1. Which of the following was an outcome of uncoordinated oil drilling in Huntington Beach, California?

Answer 

	[image: image1.wmf]
	
	The entire oil present underground had been extracted within few years.

	[image: image2.wmf]
	
	Underground oil pressure had increased due to excessive drilling leading to an oil spill into the adjacent sea.

	[image: image3.wmf]
	
	A majority of the oil could not be drilled out as low underground pressure prevented oil from reaching the surface.

	[image: image4.wmf]
	
	The oil belt suffered frequent earthquakes as excessive drilling had loosened the soil bonding.


2 points   

Question 2 

1.  

Which of the following exemplifies inefficient legal assignment of rights with high transaction costs?

Answer 

	[image: image5.wmf]
	
	Agreement between an orchard farmer and a beekeeper.

	[image: image6.wmf]
	
	LoJack installation in cars to prevent car theft.

	[image: image7.wmf]
	
	The Huntington Beach oil wells.

	[image: image8.wmf]
	
	Installation of smog control in cars.


2 points   

Question 3 

1.  

   Inclusive property rights provide an investor:

Answer 

	[image: image9.wmf]
	
	more options and greater incentives to avoid inefficient choices.

	[image: image10.wmf]
	
	an insight to future earnings and revenue generation.

	[image: image11.wmf]
	
	a definite return on the investment.

	[image: image12.wmf]
	
	cost effective techniques of production leading to economies of scale.


2 points   

Question 4 

1.  

The _____ gives a hunter ownership rights on a bird killed by him while it was flying over his property.

Answer 

	[image: image13.wmf]
	
	unitization contract

	[image: image14.wmf]
	
	Coasian reasoning

	[image: image15.wmf]
	
	rule of first possession.

	[image: image16.wmf]
	
	rule of reason


2 points   

Question 5 

1.  

Lawyer Ayres and economist Levitt considered the net benefits of installing a LoJack from the society’s standpoint positive, because the annual installation and service charges on this equipment was:

Answer 

	[image: image17.wmf]
	
	more than the average loss per stolen car.

	[image: image18.wmf]
	
	higher than the auto theft insurance paid by car owners

	[image: image19.wmf]
	
	lower than the auto theft insurance paid by car owners.

	[image: image20.wmf]
	
	less than the average loss per year due to deterred theft.


2 points   

Question 6 

1.  

According to economists, an individual who tries to derive utility from the consumption of a good without paying for it is called:

Answer 

	[image: image21.wmf]
	
	a utility maximizer.

	[image: image22.wmf]
	
	a free rider.

	[image: image23.wmf]
	
	an opportunist.

	[image: image24.wmf]
	
	a profit maximizer.


2 points   

Question 7 

1.  

Suppose an individual discovers the mouth of a previously unknown cave (expected to contain a single large diamond) on his property that extends under land owned by others. To arrive at an economically efficient outcome with low transaction cost, the law will:

Answer 

	[image: image25.wmf]
	
	award the diamond to the person who locates the diamond first.

	[image: image26.wmf]
	
	award the diamond and cave to the person whose land it opens into.

	[image: image27.wmf]
	
	award the diamond to the owner of the land above it.

	[image: image28.wmf]
	
	award the diamond to each of the owners under whose land the cave passes.


2 points   

Question 8 

1.  

For which of the following investment activities does the law clearly define the parties’ underlying rights?

Answer 

	[image: image29.wmf]
	
	Construction of a swimming and boating club on a deserted lake.

	[image: image30.wmf]
	
	Planting apple trees in a public garden.

	[image: image31.wmf]
	
	Using scrap from neighborhood trash disposal site to create wrought iron furniture.

	[image: image32.wmf]
	
	Construction of a multi-storied building on an inherited property.


2 points   

Question 9 

1.  

Assume that the market for executive travel is perfectly competitive. If the availability of time-sharing reduces transaction costs and the owner’s cost of negotiating for a single trip, which of the following situations must occur?

Answer 

	[image: image33.wmf]
	
	The hours of flight available will increase.

	[image: image34.wmf]
	
	The hours of flight available will decrease.

	[image: image35.wmf]
	
	The cost of flying will remain steady.

	[image: image36.wmf]
	
	The cost of flying will increase.


2 points   

Question 10 

1.  

Investments that are specific to a relationship (i.e. of lower value elsewhere) are considered risky and require:

Answer 

	[image: image37.wmf]
	
	an enforceable contract.

	[image: image38.wmf]
	
	an efficient spot market.

	[image: image39.wmf]
	
	high rates of return.

	[image: image40.wmf]
	
	verbal commitments.


2 points   

Question 11 

1.  

In a society, if negotiation among parties leads to a politically unsatisfactory distribution of income:

Answer 

	[image: image41.wmf]
	
	the legislature can enact laws to redistribute this income.

	[image: image42.wmf]
	
	the society can on its own reallocate resources to bring about a politically satisfactory outcome.

	[image: image43.wmf]
	
	the parties will renegotiate until they reach a politically satisfactory outcome.

	[image: image44.wmf]
	
	the parties will refuse to carry out future transactions.


2 points   

Question 12 

1.  

How can the government cut the cost of negotiation among car owners regarding LoJack installation?

Answer 

	[image: image45.wmf]
	
	The government can impose a quota on the import of LoJacks.

	[image: image46.wmf]
	
	The government can invite public opinion on LoJacks.

	[image: image47.wmf]
	
	The government can limit the number of companies producing LoJacks.

	[image: image48.wmf]
	
	The government can randomly select cars to install LoJacks.


2 points   

Question 13 

1.  

Which of the following activities can create an external cost?

Answer 

	[image: image49.wmf]
	
	Honking continuously while driving past a hospital.

	[image: image50.wmf]
	
	Reducing the use of plastic carry bags while shopping.

	[image: image51.wmf]
	
	Burying garbage under the soil and planting trees on it.

	[image: image52.wmf]
	
	Using smog controls on private cars.


2 points   

Question 14 

1.  

Farmers can avoid the free rider problem associated with the benefits received from beekeepers by:

Answer 

	[image: image53.wmf]
	
	forming local associations who contract with beekeepers.

	[image: image54.wmf]
	
	excluding non payers from using the services provided by beekeepers.

	[image: image55.wmf]
	
	fixing a low charge for the service provided by beekeepers.

	[image: image56.wmf]
	
	contracting with selective beekeepers and giving them a share of farm output.


2 points   

Question 15 

1.  

Which of the following is a new law on fishing imposed by the government to increase the total supply of fish?

Answer 

	[image: image57.wmf]
	
	Holders of fishing rights are not allowed to resell them to others.

	[image: image58.wmf]
	
	Governments have issued licenses that limit catches and fishing seasons.

	[image: image59.wmf]
	
	Quotas have enforced higher catches in coastal areas.

	[image: image60.wmf]
	
	Governments around the world have reduced their offshore jurisdictions.


2 points   

Question 16 

1.  

Refer to Table 10-1. Under expectation damages, Frasel’s breach of the contract would lower his net payoff to:
 
The matrix given below represents the payoffs to oil well owners Mike and Frasel if they enter into a unitization contract. Each of the owners know the exact amount of oil in the pool and the market price of oil.
Table 10-1
[image: image61.jpg]Mike

Frasel One well Two wells
One well $14, $14 36, $16
Two wells $16, 36 510, 510





[image: image62]
Answer 

	[image: image63.wmf]
	
	$6.

	[image: image64.wmf]
	
	$8.

	[image: image65.wmf]
	
	$16.

	[image: image66.wmf]
	
	$10.


2 points   

Question 17 

1.  

Which of the following examples can be associated with the task specificity aspect of an asset?

Answer 

	[image: image67.wmf]
	
	An employer’s investment in employee skill building.

	[image: image68.wmf]
	
	Purchasing machines which can be used to produce only a particular product.

	[image: image69.wmf]
	
	Building a facility in a low cost locality.

	[image: image70.wmf]
	
	An employer’s investment in office renovation.


2 points   

Question 18 

1.  

Which of the following is an example of vertical integration?

Answer 

	[image: image71.wmf]
	
	An industrialist building new plants in a country where operation costs are low.

	[image: image72.wmf]
	
	A cosmetic company collaborating with worldwide retailers to market its product.

	[image: image73.wmf]
	
	A fruit juice manufacturer purchasing orchards.

	[image: image74.wmf]
	
	An exporter delivering goods at a contracted price.


2 points   

Question 19 

1.  

_____ is an example of human specificity which raises the risks associated with opportunism.

Answer 

	[image: image75.wmf]
	
	Car insurance purchased by an individual for his/her favorite car.

	[image: image76.wmf]
	
	Investment of an employer in company-specific skills.

	[image: image77.wmf]
	
	Purchasing immovable machines for a particular facility.

	[image: image78.wmf]
	
	Investment in research and development


2 points   

Question 20 

1.  

If parties to a contract can anticipate the court’s decision in the event of a dispute with some degree of certainty:

Answer 

	[image: image79.wmf]
	
	opportunistic behavior will never be detected.

	[image: image80.wmf]
	
	opportunistic behavior will be partially detected.

	[image: image81.wmf]
	
	there will be less room for opportunism.

	[image: image82.wmf]
	
	only one of the parties will be able to act opportunistically.


2 points   

Question 21 

1.  

Which of the following features was prominent in the airline industry during the 1950s?

Answer 

	[image: image83.wmf]
	
	The airlines had to concentrate on cost reduction.

	[image: image84.wmf]
	
	The airlines had to lower the frequency of flights to meet rising costs.

	[image: image85.wmf]
	
	The airlines served food prepared by their own employees or by other airlines.

	[image: image86.wmf]
	
	The airlines industry was revolutionized by low-cost budget airlines.


2 points   

Question 22 

1.  

An organization offers training programs for its employees at a subsidized rate to help them use a nascent technology that the organization is adopting. The trained employees later bargain for a higher wage from the management as their probability of finding better paying jobs increase because some other companies are also adopting it. This action of the employees is an example of:

Answer 

	[image: image87.wmf]
	
	selfishness.

	[image: image88.wmf]
	
	holding up.

	[image: image89.wmf]
	
	opportunism.

	[image: image90.wmf]
	
	specificity.


2 points   

Question 23 

1.  

Assume that James owns a wheat farm that produces an annual crop of 500 bushels. His only choice is to store it in a nearby grain elevator owned by Martin, whose facility will be empty unless James is using it. Martin contracts with James to provide storage at $5 per bushel every month. In this example James and Martin are in:

Answer 

	[image: image91.wmf]
	
	probabilistic positions.

	[image: image92.wmf]
	
	asymptotic positions.

	[image: image93.wmf]
	
	hypothetical positions.

	[image: image94.wmf]
	
	symmetric positions.


2 points   

Question 24 

1.  

Escalators present in a contract must state:

Answer 

	[image: image95.wmf]
	
	at what interval the contract price should automatically change at a fixed rate.

	[image: image96.wmf]
	
	when the price will change and by what formula the new price will be calculated.

	[image: image97.wmf]
	
	when the contract should be terminated and how the cost of termination should be shared.

	[image: image98.wmf]
	
	when the contract should be renewed and the terms governing the renewal.


2 points   

Question 25 

1.  

Which of the following is a problem encountered in a transaction involving a principal/agent relationship?

Answer 

	[image: image99.wmf]
	
	Absence of monitoring and supervision

	[image: image100.wmf]
	
	Excessive dependence on forecasts and expectations

	[image: image101.wmf]
	
	High investment in industry specific assets

	[image: image102.wmf]
	
	Government interference and market volatility


2 points   

Question 26 

1.  

Parties to the contract prefer to keep the actual agreement incomplete when:

Answer 

	[image: image103.wmf]
	
	they have conflicting terms and conditions.

	[image: image104.wmf]
	
	they are large in count.

	[image: image105.wmf]
	
	the economic value of the contract is low.

	[image: image106.wmf]
	
	the cost of negotiation is high.


2 points   

Question 27 

1.  

Which of the following exemplifies specific performance that a court might order from the party in breach of a contract?

Answer 

	[image: image107.wmf]
	
	A seller ordered to pay back the price of the commodity to the customer having failed to deliver it on-time.

	[image: image108.wmf]
	
	A popular singer requested to forgo the fee for her performance at a social fund raising program.

	[image: image109.wmf]
	
	The owner of a polluting factory ordered to convert his private plot into a public garden.

	[image: image110.wmf]
	
	A movie director ordered to work with an actress he had previously contracted with, instead of one he later found was available for a lower price.


2 points   

Question 28 

1.  

_____ is an arrangement between an attorney and the plaintiff, in which the latter agrees to pay a certain fraction of the money he/she wins to the former.

Answer 

	[image: image111.wmf]
	
	Hourly billing

	[image: image112.wmf]
	
	Capitation

	[image: image113.wmf]
	
	Contingency

	[image: image114.wmf]
	
	Unitization


2 points   

Question 29 

1.  

   Provisions that allow the contract price of a commodity to change with changes in its market price are referred to as:

Answer 

	[image: image115.wmf]
	
	omnibus clauses.

	[image: image116.wmf]
	
	escape clauses.

	[image: image117.wmf]
	
	adjustment clauses.

	[image: image118.wmf]
	
	exclusion clauses.


2 points   

Question 30 

1.  

Which of the following can be classified as a highly specific asset?

Answer 

	[image: image119.wmf]
	
	A country’s soldiers

	[image: image120.wmf]
	
	A wind turbine in an installation that produces "renewable" electricity

	[image: image121.wmf]
	
	A cattle farm

	[image: image122.wmf]
	
	A cruise ship
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